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@ x+2x=3x @ 7Tx-9=0

® 443=7



@ 3(x-1)-3x
@ bx="Tx—-2x
® 44+5<2+x
5x—5 3x—-3
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® 2(4x+3) = 18 + 4(2x - 3)
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DO 2x=5x-1 @ x-1=2x-3
® 3x+4=1 @ 2(x-1)=x

® bx+4=6x-5



6x—5=-x+4

6x+x=4+0
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® 2x+3=16 @ 2x-3=16 ® 2(x+3)=16
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@ a-1=b+1°Ha-2=b

— 3

@ 2a-4=2b°1Ha=0b+2



@ 3(1-x)-3x=0
@ 24+ x-2x2=1-2x2

® x+24+4=x+6

@ 4x+8 =8+ 4x

@ 4 =3x+ 4x2



@ 2(x+1)=-x+3

D 2x-1=2

@ -(x+1)=x-5
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®4-(x-1)

® 5=2(x+1)
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@ -2x+3

D 3x-6=0

® 2x-6=10

@ x-5=8
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DQa=b¥9Ya+c=b+c
@a=b¥dYa-c=b-c
@a=b¥ddYaxc=bxc
@Da=b¥dYa+c=b=+c
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—4r—8=16
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—4r—8+8=16+8 :I( |
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